Theme 1 - PED


Price Elasticity of Demand 1

1. Fill in the missing words.

Price elasticity of demand is a measure of the responsiveness of quantity ________________ to a 
change in ________________.
Complete the formula for price elasticity of demand: 

2. Calculations

2.1 If the price of an MP3 player rises by 10% and the demand for MP3 players falls by 10%

a) Calculate the price elasticity of demand for MP3 players.

b) What does this suggest about the price elasticity of demand?

2.2 If the price of a good falls by 16% but the demand rises by only 8%.

a) The good can be described as? Relatively price elastic/Price inelastic

b) Calculate the price elasticity of demand.

2.3 Julian raises the price of his rugby shirts from £50 to £55. He knows that his price elasticity of demand is -6.

a) What will the change in demand be?

b) What does this suggest about the price elasticity of demand?

2.4 Adrian raises the price of his coffee from £1.00 to £1.25. If the price elasticity of demand is -2,

a) What will the change in demand be?

b) What does this suggest about the price elasticity of demand?

2.5 Harry knows that his price elasticity of demand is -4. He wants to raise his sales by 20%. What does he need to do to the price of his goods?

2.6 Sophie raises the price of her designer shirts from £80 to £100 and as a result sales fall from 40 to 36.

a) Calculate the price elasticity of demand

b) What does this suggest about the price elasticity of demand?

3. Identify the price elasticity of demand for each of the following diagrams
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) What does this suggest about the price elasticity of demand?

3. Identify the price elasticity of demand for each of the following diagrams
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Price Elasticity of Demand 2
1. Missing words

Price elasticity of demand measures the extent to which demand for a product is affected by price changes. The formula for PED is % change in demand/% change in price. A product that has a high PED of is said to be ________  __________________. A product that has a low PED is said to be ____________ _____________________. When a product is price elastic, an increase in price will bring about a ______________ in revenue, whereas a decrease in price will bring about an ______________ in revenue.  
Missing words: price elastic, price inelastic, increase, decrease
2. Estimate the price elasticity of demand for each of the following. Briefly state your reasoning.

	product
	PED
	brief explanation of your logic

	2.1 Rolls Royce cars
	
	

	2.2 Tesco Value Baked Beans
	
	

	2.3 A Box of Maltesers
	
	


3. True or false

3.1 All consumer goods are price elastic

3.2 When the price of a product with a PED of -3 is increased, demand will not fall significantly

3.3 A product that has a lot of competition is likely to be price elastic

3.4 A product that is the first onto the market is likely to be price inelastic

3.5 When a product is price inelastic a change in price will bring about no change in demand

4. Calculation time

The price of a return economy airfare to the USA is £400 and at this price an airline sells 1000 seats. However, the airline has a lot of spare seats and in order to try and sell these, it cuts its airfare to the USA to £300. This pushes demand up to 1500 seats. 
Calculate: 
4.1 Its price elasticity of demand _____________________________________________________________
4.2 Its revenue at a price of £400 ____________________________________________________________

4.3 Its revenue at a price of £300 ____________________________________________________________

4.4 Outline one advantage and one disadvantage of introducing the offer. 
5. What is the effect on a firm’s total revenue of the following changes?

5.1 A price increase on a price elastic product. 

5.2 A 10% price cut on a product with a price elasticity of -1 _________________________________________
Answers 1

Definition: Price elasticity of demand is a measure of the responsiveness of quantity demanded to a change in price

Formula: % Δ in Quantity demanded

% Δ in Price

2.

a. -1

b. Unitary elasticity

3.

a. Relatively price inelastic

b. – 0.5
4.

a. Fall of 60% / -60% = -6

+10% price change
b. Relatively price elastic

5.

a. Fall of 50% -50% = -2

+25%

b. Relatively price elastic

6. Lower his price by 5% +20% = - 4

- 5%

7.

a. – 0.4 -10% = - 0.4

+25%

b. Relatively price inelastic

Diagram A = Perfectly elastic

Diagram B = Relatively inelastic

Diagram D = Relatively elastic

Diagram E = Perfectly inelastic
ANSWERS 2 
1. price elastic … price inelastic … decrease … increase
	product
	PED
	brief explanation of your logic

	2.1 Rolls Royce cars
	- 0.1
	With such wealthy buyers, an extra 10% will make little difference

	2.2 Tesco Value Baked Beans
	- 5.0
	People are only buying for price, so a 10% price rise would hit sales very hard

	2.3 A Box of Maltesers
	- 0.5
	Maltesers are unique, so demand will be relatively price inelastic


3.1 FALSE

3.2 FALSE

3.3 TRUE

3.4 TRUE

3.5 FALSE
4. Calculation time

a) Its price elasticity of demand. 50%/25% = 2

b) Its revenue at a price of £400. £400 X 1000 = £400,000

c) Its revenue at a price of £300. £300 X 1500 = £450,000

d) Outline one advantage and one disadvantage of introducing the offer. 

Possible advantages include: 

Increase revenue

Sell off the spare tickets 

As long as the price of the ticket covers the variable cost, it makes sense

Possible disadvantages include: 

If the customers who paid full price find out that others are getting a better deal they may not be dissatisfied. 

Also if it becomes common knowledge that the company reduce the price nearer the flight date, customers may all wait until the last minute to book. 

5.1 This will cut sales volumes quite sharply, pushing revenue down (the % fall in sales will outweigh the % increase in the revenue per unit)
5.2 This will have very little effect on revenue. The 10% reduction in revenue per unit (the price) will be cancelled out by the 10% increase in sales volume.

